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Find as many products as you can in one minute.

4 9 2 2 7 6 3 2 5
x 8 x 4 x 2 x 8 x5 x 2 x 2 x 9 x5

Find as many quotients as you can in one minute.

2424 = 3224 = 12+4= 42 +7 =
24 +6= 48 +8 = | 12+2= 6+2=
28+7= 32+4= 56 +7= 6+3=
123 = 21 +7= 21+3 = 8+2=
Solve each problem. 2. Ron drove 83 tourists

altogether. Fifteen tourists
had cameras. Twenty-two
Show your work. tourists had binoculars. How
many tourists didn't have
binoculars or cameras?

1. Amelia works in a hotel. She
carried 34 pieces of luggage
on Tuesday and 49 pieces
on Wednesday. If she carried
569 pieces of luggage |
during the week, how many
pieces did she carry on the
rest of the days? |



One freezer can hold 100 frozen yogurt bars. How many frozen
yogurt bars are in

1. 10 freezers? 2. 3 freezers?

8. 60 freezers? 4. 100 freezers?

5. How many hundreds equal 1,0007?

6. How many thousands equal 100,000?

Operation Arrays

Fill in the operation signs (+, -, X, %) to complete the equations in each row and each
column.

7. If on average a tree drops 35 leaves a day
in autumn, how many leaves would fall in

10 days?

8. If you took a bite of a watermelon 9. If there are 100 raisins in a
and found 8 seeds, about how box and you have 9 boxes,
many seeds wouid you find in how many raisins do you have |

10 bites? in all? '




